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A) OBJECTIVE TEST
Question1. In humans, the brown state gene is completely superior to the black trait rule. By definition of the following statement is true about the transition of pairs in a family?

A. If father has brown eyes and mother has brown eyes, can produce baby to have brown eyes.

B. If parents  have brown eyes and blacks, it is safe for parents or mothers to have C. A pair of parents with black eyes can produce baby to have brown eyes.

D. A pair of mothers with brown eyes, can produce baby to have black eyes.

Question 2. What is the structure of the parsley analysis?

A. Identify the genotype of the dominant individual.

B. Identify the type of  dominant personality.

C. Determine the genotype of all counts.

D. Specify gen type, trunk type.

Question 3: Genetic variants of this gene ...

A. work to connect with each other using the `` command, to learn.

B. the number of  possible combinations of DNA replication that interacts with each other.

C. make a combination, tuberous.

D. A and B code.

Question 4: People who have blood relations within 3 generations do not get married together because:

A. If married, the likelihood of birth defects in their children will increase significantly.

B. If married, social dissatisfaction will be solved.

C. Getting married would be a violation of marriage and family law.

D. Both A and C.

Question 5: A description of genetic diversity of genes A, genes for low-level genes, genes B for local regulation, and regulations for wildlife. Genetic genes. The number of low-income households is about 1/16. The genes of the rape family are ...


A. AaBb x Aabb                                   B. AaBb x AaBb 


C. Aabb x AaBB                                   D. AaBB x aaBb

Question 6: What is the name of the gene for chromosome NST, we still do ...


A. B-chromosomes 

B. Bipolar chromosomes.


C. adhere to the chromosome. 
D. change the chromosome.

Question 7: Why does genes change when they have a chance to change their diets?

A. The most common genes are genes in the genes that are not present.

B.The genetic variant can produce a more positive image than the external condition

C. Genetically modified genotypes present to the reproductive system, but may be beneficial to the offspring.

D. A, B and C

Question 8: Which chromosome shading system is the most efficient?

A. NST implantation                  B. chromosomal insertion          

C. chromosomal transplantation A. a, b

Question 9. In the case of supplementary rules, the number of applications is as follows:

A. A + T / G + X = 1.                B. A + T = G + X

C. A - T = G - X.                    D. A = T; G = X.

Question 10. In Menden's future experiments in peas, when hybridizing 2 different purebred peas to two pairs of pure purebred traits, yield F1, for F1 self-pollination F2; When analyzing each pair of traits, in F2 the ratio of each pair of traits is

A. 1: 1 

B. 1: 1: 1: 1 

C. 3: 1 

D. 9: 3: 3: 1.
B) ESSAY
Question 11:

A consecutively 4-fold continuous zygote utilizes environmental materials equivalent to 690 chromosomes.

a. Specify species name.

b. The number of chromosomes from the daughter cell generated from the zygote.
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Question 11:

a. The number of daughter cells produced from four replicates is 24 = 16 (cells).

Number of supplying cells: 16- 1 = 15 (cell)

The chromosomes in the nucleus of each cell are: 690: 15 = 46 (NST)

2n = 46=> people.

b. The number of chromosomes from the daughter cell generated from the zygote is:

46 x 16 = 736 (NST)
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